: » B SECTICR COUNTY  |Ji | SheE T |
06-10-2016 LETTING ITEM 155 STATE OF ILLINOIS

DEPARTMENT OF TRANSPORTATION e
DIVISION OF HIGHWAYS S [

FOR INDEX OF SHEETS, SEE SHEET NO.3 P R 0 P 0 s E D
HIGHWAY PLANS

VARIOUS ROUTES
SECTION D9 GUARDRAIL REPAIR FY17-1

AL [Bodng | M MY LatE (

VARIOUS COUNTIES

€-99-028-16

LOCATION OF SECTION INDICATED THUS:- -

100 it 0 — 1= 0
] e w0 W —t= 1
R, —— —
] 50 100
o -
g n STATE OF HUNOIS
g e DEPARTMENT OF TRANSPORTATION
e e ™ e e ™ e e R DIVISION OF HIGHWAYS
- '

SUBMITIED MMJD 4 20 /6 ’

; Z;é ? RECION FIVE ENGINEER

20

FULL SIZE PLANS HAVE BEEN PREPARED USING STANDARD
ENGINEERING SCALES. REDUCED SIZED PLANS WILL NOT
CONFORM TO STANDARD SCALES. IN MAKING MEASUREMENTS
ON REDUCED PLANS, THE ABOVE SCALES MAY BE USED.

*
%
JYLEE ENGINEER OF DESIGN AND ENVIRONMENT
JOINT UTILITY LOCATION INFORMATION FOR EXGAVATION
1-800-892-8123
OR 81

~ PROJECT ENGINEER SUSAN POE
PROJECT MANAGER SUSAN POE

PRINTED BY THE AUTHORITY
OF THE STATE OF ILLINOIS
CONTRACT NO. 78526

T YT

— g T g ——r—cnean - o



leachbm
Typewritten Text
06-10-2016 LETTING ITEM 155


Examined

Examined

Examined

Examined

Examined

Examined

Prepared By: //QC

DISTR 712 & ENGINEER

DISTR{;&T LAND ACOU STTION ENGINEER

DISTRIC? PROGRA jVELOPMENT ENGINEER

DISTRIC? opafm ENGlNEER

DI%TRICT PROJECT IMPLEMENTATION ENGINEER

D T CONSTRUCTION ENGINEER

.(2——%

DISTRICT MATERIALS ENGINEER

FILE nAME =

PSS HLOBAEBIDINTE G llinoss,

USER HAME = pooal

DESIGNED -

REVISEG -

\gavPHIGETADo]

''''' tINDOT OFficas\Distriot PProacte’\Goo|

Tizgs, SEARALERERITIREINREY

or'a Files\gua

HREVIGED -

PLOT SUAGE = 1008202 "/ .

CHECKED -

REVISED -

PLOT DATE = 271872048

DATE

REVISED -

STATE OF ILLINOIS
DEPARTMENT OF TRANSPORTATION

SIGNATURE SHEET

T, JOTAL | SHEET |
e, SECTION counTY 1o S

YAR DS GUARDRAL, REPAIR FYIT-1i YARIQUS 2 20

CONTRACT NO. 78526

SCALEs

| SHEET

oF SHEETS] STA.

TO STA,

INLLINOES| FED, AID PROJECT




INDEX OF SHEETS

STANDARDS

SHEET NO. PESCRIPTION 000001-06  STANDARD SYMBOLS, ABBREVIATIONS AND PATTERNS
1 COVER SHEET 001006 DECIMAL OF AN INCH AND A FOOT
5 STGNATURE SHEET 630001-10  STEEL PLATE BEAM GUARDRAIL
630301-06  SHOULDER WIDENING FOR TYPE L ( SPECIAL) GUARDRAIL TERMINALS
3 INDEX OF SHEETS, STANDARDS 631011-09  TRAFFIC BARRIER TERMINAL, TYPE 2
4 GENERAL NOTES 631031-14  TRAFFIC BARRIER TERMINAL, TYPE 6
631032-08  TRAFFIC BARRIER TERMINAL, TYPE 6A
5-7 SUMMARY OF QUANTITIES £31033-06  TRAFFIC BARRIER TERMINAL, TYPE 6B
8 - 11 DETAIL - STEEL PLATE BEAM GUARDRAIL PRIOR TO JANUARY 1, 2007 635001-02  DELINEATORS
643001-02  SAND MODULE IMPACT ATTENUATORS
12 - 14 DETAIL - TRAFFIC BARRIER TERMINAL, TYPE 6 PRIOR TG JANUARY 1, 2007 664001-02  CHAIN LINK FENCE
15 ~17 DETAIL - TRAFFIC BARRIER TERMINAL, TYPE 6A PRIOR TO JANUARY i, 2007 665001-02  WOVEN WIRE FENCE
701001-02  OFF ROAD OPERATIONS, 2L, 2W, MORE THAN 15° AWAY
18 - 19 DETAIL -~ TRAFFIC BARRIER TERMINAL, TYPE 6B PRIOR TO JANUARY 1, 2007 701006-05 OFF ROAD OPERATIONS, 2L, 2W, 15° 70 24 FROM PAVEMENT EDGE
20 OETAIL - CRASH-CUSHION ATTENUATING TERMINAL (C-A-T) 701011-04  OFF ROAD OPERATIONS, 2L, 2. DAY ONLY
701101-05  OFF ROAD OPERATIONS, MULTILANE, 15’ TO 247 FROM PAVEMENT EDGE
701106-02  OFF ROAD OPERATIONS. MULTILANE, MORE THAN 15’ AWAY
701201-04  LANE CLOSURE, 2L, 2W, DAY ONLY FOR SPEEDS GREATER OR EQUAL TO 45 MPH
701301-04  LANE CLOSURE, 2L, 2W, SHORT TERM OPERATIONS
701400-08  APPROACH TO LANE CLOSURE, FREEWAY/EXPRESSWAY
701406-10  LANE CLOSURE, FREEWAY/EXPRESSWAY, DAY OPERATIONS ONLY
701421-07  LANE CLOSURE, MULTILANE, DAY OPERATIONS ONLY
FOR SPEEDS GREATER OR EQUAL TO 45 MPH
701428-01  TRAFFIC CONTROL SETUP AND REMOVAL FREEWAY/EXPRESSWAY
701456-02  PARTIAL EXIT RMAP CLOSURE FREEWAY/EXPRESSWAY
701501~06  URBAN LANE CLOSURE, 2L, 2W, UNDIVIDED
701502-06  URBAN LANE CLOSURE, 2L, 2W, WITH BIDIRECTIONAL LEFT TURN LANE
701601-08  URBAN LANE CLOSURE, MULTILANE, W AND 2W WITH NONTRAVERSABLE MEDIAN
701701-10 URBAN LANE CLOSURE, MULTILANE INTERSECTION
701901-05  TRAFFIC CONTROL DEVICES
782006 GUARDRAIL AND BARRIER WALL REFLECTOR MOUNTING DETAILS
Tolp0Z 07
T o0 — 10
Kev
e TR R * pae] DEGIGNED - REVISED - S SECTION COUNTY Jfg@ﬁ
oL EBEBIOITE s snasa o HIOET Bofrmonis BT GFFromsstnminat vProjosio ne pOURINRD o rams trris\ Susans Frins'quod REVISED - STATE OF ILLINOIS INDEX OF SHEETS, STANUARDS VAR D9 GUNORATL REPAIR FYIT-3|  VARIOUS 3 | 20
LT SCAE + 1Eb8en /1. cHECE - REVISE) - DEPARTMENT OF TRANSPORTATION CONTRACT N0, 78525
P OATE_+ 2102816 BATE - REVISED - SCALES | sneer oF SHEETS: SThs T0 5TA. W




GENERAL NOTES

BEFORE ORDERING THE IMPACT ATTENUATORS, THE CONTRACTOR MUST CONTACT THE RESIDENT ENGINEER RECEIVE APPROVAL OF THE PROPOSED
INSTALLATION.

ALL WORK IS TO BE REPLACED IN KIND OR AS INDICATED ON THE CONTRACT PLANS AND PROVISIONS,
THE LOCATIONS OF THE REPAIR AREAS SHALL BE DETERMINED BY THE ENGINEER.
GUARDRAIL WORK WILL INCLUDE ALIGNMENT AS MECESSARY TO RESTORE THE RAIL TO THE ORIGINAL CONDITIONS.

REMOVAL OF DAMAGED MATERIALS WILL INCLUDE DISMANTLING, LOADING, HAULING AND DISPOSAL. THE WORK SITE WILL BE LEFT IN A SAFE AND ORDERLY
CONDITION.

THE LIMITS OF THE DAMAGED GUARDRAIL WILL BE MARKED WITH PAINT., THE REPLACEMENT PARTS AND THE QUANTITIES INDICATED ARE WITHIN THESE
LIMITS AS MARKED,

REMOVED GUARDRAIL THAT IS NOT REPLACED ON THE SAME DAY MUST BE DELINEATED WITH LIGHTED BARRICADES. NO LOCATIONS WILL BE LEFT WITHOUT
EITHER LIGHTED BARRICADES OR RESTORED GUARDRAIL AT ANY TIME, ’

GUARDRAIL MARKERS SHALL BE ATTACHED TO TERMINAL SECTIONS. ALL OTHER MARKERS SHALL BE PLACED AT THE DISCRETION OF THE ENGINEER.

ILLINOIS STATE LAW REQUIRES A 48-HOUR NOTICE TC BE GIVEN TO UTILITES BEFCORE DIGGING. FIELD MARKING OF FACILITIES MAY BE OBTAINED BY
CONTACTING J. U, L. I. E. ( PHONE: BCO 832-0123) OR FOR NON-MEMBER, THE UTILITY COMPANY DIRECTLY.

NG OVERNIGHT LANE CLOSURES WILL BE ALLOWED.

THE CONTRACTOR SHALL BE ADVISED THAT THE GUARDRAIL PAY ITEMS INCLUDED IN THE PLANS MAY BE USED TO REPLACE/REFAIR SPBGR AND TRAFFIC
BARRIER TERMINALS FOR THE NEW MIDWEST STANDARD AS SHOWN ON THE HIGHWAY STANDARDS AS WELL AS SPBGR AND TRAFFIC BARRIER TERMINAL
INSTALLED PRIOR TO JAN., I, 2007 AS SHOWN IN THE PLAN DETAILS. NO ADDITONAL COMPENSATION WILL BE ALLOWED FOR UTILIZING THE CURRENT
MIDWEST STANDARDS.

NONE
FILE Rots = USER wAME % ponsl DESIGHED - REVISER - i LA SECTION COUNTY s r%e%
PANLABAETIOINTEG Hano1aagarPHIDIT\Doburnants\ 00T OFfices\Dintrios F5Proscts\Goch QAo ta\foomatrica\Surnn's Filoaguol REVIGED - STATE OF HLLINOIS GENERAL NOTES VAR |08 CUMDRAL TR F!’!'H VARIOUS r 20
PLAT SCALE « 103808 '/ o CHECKED - REVISED - DEPARTMENT OF TRANSPORTATION T CONTRACT NO.. T852E
PLat Date < se/zsin DATE - _ REYISED ~ 7 SGAEL R _SHEETS] §TA Mo 5TA THLTGES [P0, MG PROECT i




SUMMARY OF QUANTITIES ol
ROUTE: VARTIOUS
FUNDING: 1004 STATE
CODE TOTAL MCHD HIT AND RUN
ITEM DESCRIPTION UNIT

NUMBER QUANTITY 0021 00z1

25000100 SEEDING, CLASS 1 ACRE 5 4 i

63100167 TRAFFIC BARRIER TERMINAL, TYPE | (SPRCIAL) TANGENT EACH 80 &0 20

631001683 TRAFFIC BARRIER TERMINAL, TYPE 1 ( SPECIAL) FLARED EACH 5 5

84300260 IMPACT ATTENUATORS ( FULLY REDIRECTIVE, NARRGW), TEST LEVEL 3 EACH 4 3 1

64401300 HIGH TENSION CABLE MEDIAN BARRIER TERMINALS . EACH 3 3

67100100 MOBILIZATION L St 1 0. 85 0.15

X032589% REPAIR HIGH TENSION CABLE ( GIBRALTAR) FOOT 100 100

X0325900 REPAIR HIGH TENSION BARRIER TERMINAL (GIBRALTAR) £ACH 2 2

X0325902 REMOVE AND REPLACE POSTS ¢ GIBRALTAR} EACH 20 20

#0326201 REPAIR HIGH TENSION CABLE { TRINITY) FGOT 10C 160

Xo32e202 REPAIR POSTS ( TRINITY) EACH 20 20

X0326203 REPAIR HIGH TENSION CABLE SYSTEM END SECTION ( TRINITY! EACH 2 2

Xo300210 GUARDRAIL BLOCKS EACH 240 225 15

X6300215 RAIL ELEMENY PLATES EACH 240 225 15

¥
PILE Wit T —— DESIGNED - REVISED - L p— comee IO TSRET
PN AT 2B4ERIDINTEG 1) P WIIETAD: AIGOT DFfseasiOiatriot $\Projscts\Cech SRAMIDat \GrcnatraniSutnn's FilaniquefREYIGED -~ STATE OF LLINOIS SUMMARY OF QUANTITIES Rﬁ‘a & wePAm PP | VARIOUS 9“8?5 23
PLOT SCALE = 10,2802 ©/ . CHECKED - REVISES - DEPARTMENT OF TRANSPORTATICN CONTRACT WO, 18926

SHODELHAME S PLOT OATE = 2/ia/Eds o - REVISED - SCALE [ sweey of SHEETS| 5TA, TO STA, LTRSS, PROEET




SUMMARY OF QUANTITIES
' ROUTE: VARIOUS
FUNDING: 100% STATE
CODE TOTAL MCHD HIT AND RUN
ITEM DESCRIPTION LNIT

NUMBER QUANTITY 0021 0021

X6300217 RATL ELEMENT PLATES { RADIUS) EACH to 8 2

X6300220 EXTRUDER HEAD EACH 4 3 1

X6300230 STEEL POSTS EACH 245 22% 2¢

A6300231 STEEL POST, ATTACHED TO STRUCTURES EACH 2 2

X6300235 WOGD POSTS EACH 35 i5 20

X6310088 TRAFFIC BARRIER TERMINAL TYPE 6A { SPECIAL} EACH 3 3

X6310176 TRAFFIC BARRIER TERMINAL, TYPE 2 (SPECIAL) EACH 3 2 1

X6310214 TRAFFIC BARRIER TERMINAL, TYPE & { SPECIAL) EACH 4 4

X6311218 TRAFFIC BARRIER TERMINAL {C-A-T} EACH 4 3 1

Xe3112:7 TRAFFIC BARRIER TERMINAL, TYPE 6B ( SPECIAL: EACH 4 4

XB331110 STEEL POSTS, SPECIAL EACH 2 2

X6436210 REMOVE AND REINSTALL IMPACT ATTENUATORS EACH 34 30 4

X6640298 CHAIN LINK FENCE (SPECIAL) FOOT 150 100 50

A6650208 WOVEN WIRE FENCE REMOVAL AND REPLACEMENT FCeOoT 160 106

S
FILE WAME = USER HAME ¥ poasl DESIGNED - REVISED - B COUNTY TOIR TOHEET)
Pet AL OEEDITINTES A Minata.quviHIOT\Dofumpnsa 00T BFfions\tistract 5\Fre jearasGachBRIRICo ta\Gaome 1rics Sussn's Filew'quod REYIGED STATE OF ILLINOIS SUMMARY OF QUANTITIES R:,.:‘E 9 CUARTRAG, FEPAIR PRI | VARIGUS S)ESTS :g’
PLOY STALE = 1ABBED * 7 - CHECKED - REVISED DEPARTMIENT CF TRANSPORTATION i CONTRACT WD, 18526

SHODELNAMES BLOT DATE = 2/18/2816 DATE - REVISED !SHEET oF SHE,ETSE STA, ™ $TA ig.mwim AT PROECT




SUMMARY OF QUANTITIES
ROUTE:® YARIQUS
. FUNDING: 1004 STATE
CODE TOTAL MCHD HIT AND RUN
ITEM DESCRIPTION UNIT

NUMBER QUANTITY 0021 0021

XT0L10410 SPEED DISPLAY TRAILER CaL MO 4 3.5 0.5

X7011834 TRAFFIC CONTROL AND PROTECTION, CALL OUT WORK EACH 50 30 20

X7¢11838 TRAFFIC CONTROL AND PROTECTION, FREEWAY/EXPRESSWAY, CALL OUT WORK EACH 50 30 20

200524 iQ REPAIR TRAFFIC BARRIER TERMINAL, TYPE 1 SPECIAL { TANGENT) EACH 22 i0 12

Z0052415 REPAIR TRAFFIC BARRIER TERMINAL, TYPE 1 SPECIAL (FLARED} EACH 3 3

20053200 REPAIR TRAFFIC BARRIER TERMINAL, TYPE 6 EACH 4 4

20053210 REPAIR TRAFFIC BARRIER TERMINAL, TYPE &A EACH 4 4

70053220 REPAIR TRAFFIC BARRIER TERMINAL, TYPE 6B EACH 4 4

%
FLE N+ USER RAME 7 possl DESIGNED - REVISE] - A SECTION COUNTY TOTAL | SHEET
AL EBARBITIHTE G L linos 5, gorPNIODT\ lobamentan 0T DT fipas\Diatriot $1Projonss\Goop BRI ta\BromntrroatSuson's Filosguod RENIGER - STATE OF ILLINOIS SUMMARY OF GUANTITIES B_\!f%a B9 GUARDRAX REPAIR FRI-T | VARIOUS SHE'?S :g
PLOT SCALE v 1020003 1/ an. CHECKED - REVISED - DEPARTMIENT OF TRANSPORTATION CONTRACT NO. 78526

PHRLLIAES PLOT DRTE = 2/10/2in8 DATE - REVISED - SCALEs [ SEmT of SHEETS] STA. 10 STA, R | 1 N A




Rall element splice Rail element splice

(See Detail (See Detail /
353 953 . 953 953 |

1.905 m # 1.905 m Ty A R T /A RRERRTEEyAwn

(37/) (37/) (37/5)

i (6'-3"" i 6 -3 i Edge of 610 (2) min. ! 1 ! \ ! !
,L. ,_L A 4—I .L. shou\der\ , 0 F}_ i "l F}_ i ,
(——— 1 o { e —— S e 3 -
e ———————————— e — - { s e {
e — e — — — — —
\ .
+ [ [ [ o o
L A L L N g Lo Lo - L L
E 55*69‘ plate E E E E Hla Hinge point Vo - I I I
b drail Lo Lo 0 Lo Lo Lo Lo Lo
P 3 Peam guardrd P P PS> 0|3 b P Do Do Do
L L L Lo —lo Lo Lo - L L
L L L Lo El=z Lo Lo - L L
L L L Slope 1:10 . Ol L . Lo - L L
. . . or flatter Co <l AN b b v Lo Lo
o o o [ AN — LoJ L-J L-J L-J [
Log Log AJ Log o § AA
ELEVATION D o ELEVATION
TYPE A SECTION A-A TYPE B
1.905 m (6’-3") Typical post spacing 953 (37!/5) Closed post spacing

Rail element splice

End of y (See Detall
structure old —T1 a&K\ &Ng E
— 0|~
Beo; SIS |3 e 1.905 m ‘
S - End of = ola ‘ (6'-3") ‘ cq
u i S structure " o
Se "o |0 .
en ZS\ope 1:10 L =lo ¢ : ; <
or flatter . El=
. e Steel plate
Finished . Qe beam guardrall
ground line & © ” ”
L L Block-outs
Co @ ¢
Lo - \’ T E l\l
SECTION C-C ﬂ CQJ
PLAN
2 - 2 Unit expansion anchors TYP
for MI6 (34) bolts with A
standard washers. (Staggered) Double steel plate beam guardrail
' Concrete 1.905 m (6’-3') typical post spacing
! structure \
After this post has been |
located, drill holes In /'E 232 | \
concrete for block-out L ‘('9\/)
attachments. — ‘ 8
T GENERAL NOTES
o ‘; Steel block-outs only All slope ratios are expressed as units
o i of vertical displacement to units of
~ THIS DETAIL IS APPLICABLE TO THE GUARDRAIL horizontal displacement (V:H).
INSTALLED PRIOR TO JANUARY 1, 200T7. All dimensions are in milimeters (inches)
unless otherwise shown.
TYPE C DATE REVISIONS

Slope 1:10
or flatter

4-1-06 |Deleted plate washer F. STEEL PLATE BEAM
Fimished GUARDRAIL

953 (37!/,) Block-out spacing

ground line — . (Sheet 1 of 4)
1-1-05 [Rev. post in impervious
SECTION B-B material on sheet 4. STANDARD 630001-06
FILE NAME - USER NAME = poesl DESIGNED - REVISED - GUARDRAIL STANDARDS PRIOR %ﬁé__ SECTION COUNTY sTH%TEATLS Sw:EET
pi\\IL@BAEBIDINTEG. 1111n015.goviPWIDOT\Dobuments\ 00T OFfices\Distriot N\Projects\GeonddRNMEData\Geometrics\Susan's Files\guaf RENEGED - STATE OF ILLINOIS T0 JANUARY 1, 2007 VAR | D9 GUARDRAIL REPAIR FY17-1| VARIOUS 8 20
PLOT SCALE = 26.0000 ' / 1n. CHECKED - REVISED - DEPARTMENT OF TRANSPORTATION ! CONTRACT NO. 78526
Default PLOT DATE = 3/14/2016 DATE - REVISED - SCALE: SHEET OF SHEETS[ STA. TO STA. [ILLINOIS[FED. AID PROJECT




. 83 152 | 149
/| ® (57)
oo &

M| =

356

Post bolt th/
std. hex nut

W150x13.5 (Wox9)

or Wi50x12.75 (W6x8.5)
steel post

STEEL POST CONSTRUCTION

152 200
(6) (8)
]
w| - <i:
~|=
(Q —
S
Mz == —~H+
Post bofj///(
with std.
hex nut

150x150 (6x6) Rough
sawn timber foe-
nailed to post

Std. flat washer

E /' Bolt not to ext
|

f past nut

200x150 (8x6) Rough

/sqwm timber post

WOOD POST CONSTRUCTION

end

-’ more than 6 (/)

305 As required
(12) STEEL BLOCK-QUT DETAIL . o~
(732 ;
19 Dia. hole ¢ ol
(¥a) — ! S
| —~
[ T ©) -
o J
| - ot
‘ .
, mavel [ s O a2l
or 5 ;
37 (1 Ye) ( %g) suit bolt
NOTE
POST OR SPLICE BOLT & NUT
Plate A shall be placed between
rail element and block-out at non-
splice mounting points only when
steel block-outs are used.
PLATE A
STEEL PLATE BEAM
THIS DETAIL IS APPLICABLE TO THE GUARDRAIL GUARDRAIL
(Sheet 2 of 4)
INSTALLED PRIOR TO JANUARY 1, 2007.
STANDARD 630001-06
FILE NAME - USER NAME = poesl DESIGNED - REVISED - F.A, TOTAL | SHEET
£ GUARDRAIL STANDARDS PRIOR RTE. SECTION COUNTY  |spEETS| ~NO.
pw\\IL@B4EBIDINTEG.1111no1s.gov:PWIDOT\Dofuments\IDOT OFf fices\District 9\Projects\GeondIRWIMNData\Eeometrics\Susan's Files\qua dRENVISED - STATE OF ILLINOIS T0 JANUARY 1, 2007 VAR | D9 GUARDRAIL REPAIR FY17-1| VARIOUS 3 20

Default

PLOT SCALE = 26.0000 '/ 1n.

CHECKED -

REVISED -

PLOT DATE = 3/14/2016

DATE -

REVISED -

DEPARTMENT OF TRANSPORTATION

SCALE:

SHEET OF SHEETS‘ STA. TO STA.

CONTRACT NO. 78526

[ILLINOIS[FED. AID PROJECT




Place standard end shoe
between splice plate and

rail element

318

(12'/5)
51 . 108 108 51
(2) @) | 4

|
|
\
|
|
}

D7 (Fx2/)

23x29 Slotted holes
(29/32 X 1‘/@

SPLICE PLATE

Traffic
-

Class A rail

19x64 Slotted hole

13 Steel plate

(/)
33 Dia. hole
(1%¢) 70
N A
?%l}w 1 ]
IZ - gl
|
[} | 6
| 35 :
318 Lap | ™ (1%) v
(12/2) i
2;. ‘1?8 ;1?8‘ E; 19x64 Slotted hole
!(4/4)\ (4/4)! /(3/4><2‘/2)

\\\Z//23x29 &, x 1/3) Slotted

holes for MI16 (34) splice bolts

RAIL ELEMENT SPLICE

element
700 -
(27Y/54)
216
8/ 6|5
‘ oz
= = /
Class A

rail element

159
o

(6!/a) |

|

T 7 N
O D S R
o -
1 |

= 5

END SECTION

23x76 (B x 3) Slots for
splice bolts with std. galv.
washer placed under locknut

!
102,108 ) 108 | 152 |
(4 (al/a) (4a),; &)
SSEE S i )
. Y S
= = | |
SR I O Lo
=== o
I oo &
——g — - -— i 4
19x89 Slotted hole 25 Dia. holes
(Vax3Y/2) (M
~ e 914 \
w [ (36) ‘
e \ \ | \
! i ?
NOTE

5 Steel plate
/)

Neutral axis
e

| Rail element

Post bolt with
washer on front
face. (8 required)

hole

25 Dia. holes

(D

(optional)

51‘ 102 | 102 | 102 |5l
(2)‘ (4) ‘ (4) T (4) ‘(2
= = ST =N
= S S S 20 Dia.
2, )
408 3
(16)
NOTE
Anchor plate T shall be used to afttach
cable assembly to guardrail when reqguired
on fraffic barrier terminals.
ANCHOR PLATE T DETAILS
184 | 578
(7'/4) ‘ (22%4)
76 , 108 | 108 108 | 108 51
(3] (ala) |4/ | KA AT R
S 1 @ i i |
A I N
e
oI T i T 1
o e =
|
_CP Cb
51 i 1
2) ﬁ
- 762
o (30)
N 23x23 Sloffed Holes D =19x64 Slotted hole
- (P x 1/8) (Yax2V/)
o Y ‘
e e e
S %7{9 ******* éfﬁ% ’’’’’’’’

ALTERNATE END SHOE

THIS DETAIL IS APPLICABLE TO THE GCUARDRAIL

INSTALLED PRIOR TO JANUARY 1,

When end shoe is attached fto a bridge parapet which has an expansion
joint, the bolts shall be provided with a locknut or double nut and shall
be tightened only to a point that will allow guardrail movement.

The standard end shoe shall be attached to the concrete with pre-drilled
or self-drilling anchor bolts. The anchor cone shall be set flush with

the surface of the concrete.

Externally threaded studs protfruding from the surface of the concrete

will not be permitted.

END SHOE

2007,

STEEL PLATE BEAM

GUARDRAI

L

(Sheet 3 of 4)

STANDARD 630001-06

= = - - F.A. TOTAL | SHEET
FILE NAME USER NAME DESIGNED REVISED GUARDRAIL STANDARDS PRIOR RTE. SECTION COUNTY  |guizeTs| “No-
pw\\IL@B4EBIDINTEG.1111no1s.gov:PWIDOT\Dofuments\IDOT OFf fices\District 9\Projects\GeondIRWIMNData\Eeometrics\Susan's Files\qua dRENVISED - STATE OF ILLINOIS VAR | D9 GUARDRAIL REPAIR FY17—1 | VARIOUS 0 20

Default

PLOT SCALE =

26.0000 ’ / 1n.

CHECKED -

REVISED -

DEPARTMENT OF TRANSPORTATION

TO JANUARY 1, 2007

PLOT DATE =

DATE -

REVISED -

SCALE:

SHEET

OF SHEETS[ STA. TO STA.

CONTRACT NO. 78526

[ILLINOIS[FED. AID PROJECT




Optional
,~—round
t--c hole

| 203 (8) min. (Steel post)

250 (10)min. (Wood post)

PL AN

Finished

ground line \

Aggregate

Ledge
N,

Drilled Hole

1.13 m - 2.06 m

(4-3/," - /-9

Note:

Ledge line is top of rock
ledge or hard slag fill.

ELEVATION

/7bOcKﬁH (CA 1D

FOOTING FOR POST WHEN IMPERVIOUS

535
2D

Note:

I[f it is necessary for D to be more than 300 (12) and
less than 3.0 m type M-5 (M-2)curb and gutter
(Std. 606001

of the gquardrail

(10"-0"")
shall

__¢__

be used in front of and in advance

GUARDRAIL PLACED BEHIND CURB

(D = 0 desirable to 300 (12)

maximum)

\ W
Steel Post| Wood Post
0 - 460 610 530 580
(0 - 18) (24) (21 (23)
>460 - 825 305 203 250
(>18 - 41.5) (12) (8) (10)
>825 - L.13 m 305 - 0 203 250
(>41.5 - 53.5) (12 - 0 (8) (10)

MATERIAL IS ENCOUNTERED

THIS DETAIL IS APPLICABLE TO THE GUARDRAIL
INSTALLED PRIOR TO JANUARY 1,

M24 (1) double

] #E{n
nuts or locknuts

and washer

r“/\”“

WOOD BLOCK-OUT AND

STEEL POST DETAILS

M24x178
(I1x1)

10

(%)
T

-l
Symm. about
/ ﬂ;

g3w<%>dnu@mm

galvanized cable

connected

CABLE ASSEMBLY

(18,100 kg (40,000 Ibs.) min. breaking strength)
Tighten to taut tension.

STEEL PLATE BEAM

GUARDRAIL

(Sheet 4 of 4)

2007,

STANDARD 630001-06

FILE NAME =
pws\\IL@B4EBIDINTEG.1111no15.90v:PWIDOT\Do

Default

USER NAME = poesl DESIGNED - REVISED
uments\IDOT Offices\District 9\Projects\Geohd3RWWANData\Geometrics\Susan’s Files\guat dRENVHSED
PLOT SCALE = 26.0000 ‘ / 1n. CHECKED - REVISED
PLOT DATE = 3/14/2016 DATE - REVISED

STATE OF ILLINOIS

DEPARTMENT OF TRANSPORTATION

GUARDRAIL STANDARDS PRIOR

TO JANUARY 1, 2007

F.A.
RTE.

canrr [T

VAR

D9 GUARDRAIL REPAIR FY17-1 VARIOUS 11 20

SCALE:

SHEET

OF SHEETS‘ STA. TO STA.

CONTRACT NO. 78526

[ILLINOIS[FED. AID PROJECT




Pay limits of TRAFFIC BARRIER TERMINAL TYPE 6 (I each)

PARAPET
OR WINGWALL

Concrete parapet
or parallel wingwall

Formed or
drilled 25 (1) ———__

Steel

bearing

plate

hole ="

Bridge approach curb

r gz r "r I /I

Pay limits of otfher type _

n___

Parapet wood

L s

=

block-out Transition section included in
. i L TRAFFIC BARRIER TERMINAL TYPE 6
Two sections of fthrie beam one set inside the other ‘ -
M20 () (3.4mm (10 gauge) rail element)
bolts PI_AN
\ 2.858 n1(9’74V§”)3 N 6.667 m (21'-10'/,'" X
! ’_ ’r r_l /e
Thrie beam 1 6 spaces at 476 (1'-6%4"") 7 spaces at 953 (3'-1/5"")
end shoe — sl 184
i (74
e ———————— e = = = - .
N —— [ 2127 T :: :: — — - ==t — — — D —— = i
) P =) =y =) o o =) o o = o = T ol 1
8@ Nl .:lj. L L L " " L S 2 " i " 2 j e ]
/S SN o, 38
—1
R L b L L b P SR &
1 2 3 4 5 6 7 8 g 10 1 h e
12
ELEVATION
610 (2) min. |
all posts ’//ﬁfWood Blockout
_ GENERAL NOTES
See Standard 630001 for details of
guardrail not shown.
ol~
| gﬁd Thrie beam rail shall be bolted to block-out
. ~ _ at all posts.
: Bl
I See Standard 420401 for details of bridge
i N~ approach pavement.
o S N ) )
2 N ﬁé; ' A All slope ratios are expressed as units
S / : : Tt of vertical displacement to units of
<ﬂ7 W150x13.5 (W6x3.0) . . Bridge approach horizontal displacement (V:H).
Steel post and wogg\\\i » pavement
block-out ' ' All dimensions are in millimeters (inches)
. . unless otherwise shown.
R A
N
- TERMINAL, TYPE 6
THIS DETAIL IS APPLICABLE TO THE GUARDRAIL cheet 1 of 3
SECTION A-A
INSTALLED PRIOR TO JANUARY 1, 2007,
STANDARD 631031-05
FILE NAME = USER NAME = poesl DESIGNED - REVISED - F.A. SECTION COUNTY TOTAL | SHEET
pw\\IL@B4EBIDINTEG.111ino1s.gov:PWIDOT\Dobuments\IDOT OFfices\District 9\Projects\Geond3RNWHNData\Geometrics\Susan’s Files\guatcREVESED - STATE OF ILLINOIS ||.\I|-2¢;::.IL2DBAP|::|‘(I)ERRT.I(-]ERJI\:::I\IUAII\-’R.;Y:EZZO7 RliR D9 GUARDRAIL REPAIR FY17—1 | VARIOUS SHszTS gg
PLOT SCALE = 26.0800 ' / n. CHECKED - REVISED - DEPARTMIENT OF TRANSPORTATION ' CONTRACT NO. 78526
Default PLOT DATE = 3/14/2016 DATE _ REVISED - SCALE: ISHEET OF SHEETS[ STA. TO STA. [ILLINOIS[FED. AID PROJECT




5 Epoxy grouted M20 (¥
anchor bolts with standard

washers. After tightening, cut |

Pay limits of TRAFFIC BARRIER TERMINAL TYPE 6 (I each)

OTHER CONCRETE STRUCTURE

the anchor bolts flush with

nuts, and damage the nut
to prevent It from

AN

Type B concrete curb

Pay limits

of ofther fype

loosening. r’ B
I—> B Transition section included in J
TRAFFIC BARRIER TERMINAL TYPE 6
Two sections of thrie beam one set inside the other ! |
‘ (3.4mm (10 gauge) rail element)
PLAN
V/{
| 2.858 m (9'-4/5") \ 6.667 m (21'-10/5")
h 6 spaces at 476 (1'-6%4") 7 spaces at 953 (3'-1//,")
Thrie beam 1 /4 ‘ 9.144 m /2 J
end shoe ) 184 | (30'-0"")
\ 7'/
o TS = = = = = = = = = ST — — - .
o \)@Q TS T TS T TS T TS T = TS T alc:cl = TS T TS T QIQIO .\:?:\ —
A\ el O S — S - - - Se e i
oz o IS I I i . i T s i i i s i - |
8|S | concrete | IR L L L L 10, RS
structure N i N N N N N N i i T —
R P o o L P =:/A®y///f\\\\=://@
1 2 3 4 5 6 7 8 9 10 11 N -
12
ELEVATION
610 (2) min.
all posts /Wood Blockout
—r
Type B concrete
— curb BI15 (B6)
QI —~
PalE
RSl FN
|
T Y E \t
" ST AL =
WS /§ ' ' N
\'"2@7// : | Slope 1:10
H | ope l: or
</ ; DY THIS DETAIL IS APPLICABLE TO THE GUARDRAIL
/ INSTALLED PRIOR TO JANUARY 1, 2007.
W150x13.5 (W6x9.0) steel ' R
post -
LR TERMINAL, TYPE 6
Sheet 2 of 3
SECTION B-B
STANDARD 631031-05
FILE NAME = USER NAME = poesl DESIGNED - REVISED F.A, SECTION COUNTY  |JOTAL | SHEET
pw\\IL@B4EBIDINTEG.1111no1s.gov:PWIDOT\Dofuments\IDOT OFf fices\District 9\Projects\GeondIRWIHNData\Eeome trics\Susan’s Files\gual dRENV.ESED STATE OF ILLINOIS ":I-:_;A_;{IL%DBI:RR?(I)ERRTT(-]ERJMAI':I\I:II\}?:EZSO7 RliR D9 GUARDRAIL REPAIR FY17-1|  VARIOUS SH;ETS gg
PLOT SCALE = 26.0000 ' / 1in. CHECKED - REVISED DEPARTMENT OF TRANSPORTATION ’ CONTRACT NO. 78526
Default PLOT DATE = 3/14/2016 DATE - REVISED SCALE: [ SHEET OF SHEETS] STA. TO STA. [ILLINOIS[FED. AID PROJECT




z TE
(3) ‘ ‘ -
762
. 50 (30) -
_ i (2)
ol | 1+ 203 108 , 108 76
Ol W [(4/2)((4/2)}(3)
‘ i SSERNEENSS .
T+ 2 s :
< I R S———
olz 4 | | SSREE A
3| 'ﬁ(i o
S I R s o= e N
—|~ i : | 3 ‘%
Y _|g | | | |
P o i\
3 [ 25w oo, L19x64 Fax2V/>)
< holes (typ.) slotted holes
25x51 (1x2) (typ.) ~— —
slotted holes
(typ.)
THRIE BEAM END SHOE DETAIL POSTS 1-11 WOOD BLOCKOUT DETAIL POST 12 WOOD BLOCKOUT DETAIL
50 | . 203 . 509 %»F%{%
i @ | @ (20) fofm | 203 | (1'/5)
| i — SN T
IO . NS Lo i /) T
e s to- i |mlz
83 sl | N S| | [Pl
Sl I R S22 ! .
1e- | 3z =y b
| — |~ R — RENS
SEE L o A7
ISEL T o BT ek
R N IV P ey w2
| 5 —to- /1|95
T \__ 25 (1) Dia. J= —
holes (typ.) 25 min. P [ 25 ) Dia.
762 (0 holes (typ.)
(30) 16 (%) Stee
PARAPET WOOD BLOCK-OUT DETAIL PARAPET STEEL BEARING PLATE DETAIL
(5 each Individual 125x125x16 (5x5x%) steel
plates with centered 25 (1) holes may be
substituted for fhe plate shown.) TRAFFIC BARRIER
TERMINAL, TYPE ©
THIS DETAIL IS APPLICABLE TO THE GUARDRAIL Sheet 3 of 3
INSTALLED PRIOR TO JANUARY 1, 2007. STANDARD 631031-05
FILE NAME = USER NAME = poesl DESIGNED - REVISED - F.A. SECTION COUNTY TOTAL | SHEET
TRAFFIC BARRIER TERMINAL, TYPE 6 RTE. SHEETS| NO.
pw\\IL@B4EBIDINTEG.1111no1s. gov:PWIDOT\Dofuments\IDOT Of fices\District 9\Projects\GeopddRWWMNData\Eeometrics\Susan's Files\qual REVISED - STATE OF ILLINOIS ' »
PLOT SCALE = 26.0800 ' / n. : CHECKED - REVISED - DEPARTMENT OF TRANSPORTATION INSTALLED PRIOR TO JANUARY 1, 2007 AR SO R (\:/:J’:l['?;sACT Nla. 7852206
Default PLOT DATE = 3/14/2016 DATE - REVISED - SCALE: ‘SHEET OF SHEETS‘ STA. TO STA.

[ILLINOIS[FED. AID PROJECT




Pay limits of TRAFFIC BARRIER TERMINAL TYPE 6A (1 each)

¢ End Rall Post For side-mount
1145 max. ‘ SELdbge{Grcoe\'\,J)\ore
o edge of geck. I—» B Bridge approach curb - Pay limits of other type

i

i

\

T L iEiiE & 'z oz /z 3 & g
Guardrail CommecﬂoMJ T T : T , ,
pee o L'A L> B Transition section included in

=

Face of bridge radil TRAFFIC BARRIER TERMINAL TYPE GA

Modified thrie (3.4mm (10 gauge) rail element) !
beam end shoe

Two sections of thrie beam one set inside fthe other |

PLAN
2.858 m (9-4Y5") N 6.667 m (21'-10'/,'" X
Bridge rall 6 spaces at 476 (1'-6%4"") 7 spaces at 953 (3'-1/5"")
Guardrail connection
plate assembly — — — — — _
<T= 1 T T T T i = I I I S, © = — |
Qe = - - - - T == T - T = = L
o7 ToT ToT ST ST S ST S = = ST L2 o ! L
jj: : T T T T I i =2 I I I = : P - |
— 10 N
ggi Y 1! H ! H ! H ! H ! H ! H [ [ [ [ Lo . : -
R P D D D b L ZZSR 7
ced P P P o P o P o P P P b P
X O O b b Do P D D L
0 v t t v v v v v v v v Lo .
= Do Do Do b Do b Lo b Do Do Lo b Co
S AR | B | | | | |
o L L Ll L L L L L L L L o o
T3} uo! I
1 2 3 4 5 6 7 8 9 10 11 t--
12
ELEVATION
610 (2°) min.
all posts Wood Blockout (typ.)
( GENERAL NOTES
This standard shows attachment to curb
mounted bridge rail. Atftachment to side
—r — mounted bridge rail is similar.
See Standard 630001 for details of
» guardrail not shown.
2 ol~
5 E g g Thrie beam rail shall be bolted to block-out
= 2l Bridge approach curb at all posts.
|~ e
c ‘N . / See Standard 420401 for details of bridge
ol ’J approach pavement.
RS N7 S 77 7 e
2 175 : o~ : A S All slope ratios are expressed as units
S A@// . ! ' v THIS DETAIL IS APPLICABLE TO THE GUARDRAIL of vertical displacement to units of
\7// ' " horizontal displacement (V:H).
: 1 WISOx13.5 (Wex9.0) , i INSTALLED PRIOR TO JANUARY 1, 2007,
: Steel post and wood All dimensions are in millimeters (inches)
: block-out (typ.) : ; unless otherwise shown.
- l“l_ - f“/_ " [
"""\\/"'\v"l" R L
' i R DATE REVISIONS
P P 4-1-06 |Added a General Note. TRAFFIC BARRIER
- TERMINAL, TYPE 6A

Sheet 1| of 3

SECTION A-A SECTION B-B 1-1-04 |Revised bolts and bolt
spacing in connection STANDARD 631032—02

plate & wood blockouts.

FILE NAvE - USER NAME - poss] DESIGNED - REVISED - TRAFFIC BARRIER TERMINAL TYPE 6A B SECTION COUNTY | QTAL | SHEET
pus\\ILOB4EBIDINTEG.1111no1s.gov:PWIDOT\Dofuments\IDOT OFfices\District 9\Projects\GeohedRWINData\Geometrics\Susan's Files\gual REVISED - STATE OF ILLINOIS INSTALLED PRIOR TO JANUA,BY 1. 2007 VAR | D9 GUARDRAIL REPAIR FY17-1| VARIOUS 15 20

PLOT SCALE = 26.0008 '/ in. CHECKED - REVISED - DEPARTMENT OF TRANSPORTATION ! CONTRACT NO. 78526
Default PLOT DATE = 3/14/2016 DATE - REVISED - SCALE: [ SHEET OF SHEETS[ STA. TO STA. [ILLINOIS[FED. AID PROJECT




Bolts (A307) with washers
¢ 25 (hholes and self locking nut or nut
\ and jam nut. Top bolt 22

51 | (e by 229 (9). Bottom bolt
Guardrail connection b 7
(2) w 22 (75) by 127 (5) for curb
plate assembly T~ L ] mount or 22 (%) by 179 (1) for
-_"OTA side mount.
I -
]
N ‘ ! * Bolt 22x127 (Vgx5)
N * % Bolts 22x31 (Ygx2) "M
X n
Thrie beam i
end shoe ™
Note:
. ( 1l Side mounted rail
g similar as to
c | connection details. —
7 1.
o E|5co
< ElE O\
© ~| =+ [ 1
[Ip] Mo g O
Z| E_g’ (0]
NN 20
M|l O LU v
M= O S
> - T
Y i i
\ /4 /4
Finished surface
SECTION C-C POSTS 1-11 WOOD BLOCKOUT DETAIL POST 12 WOOD BLOCKOUT DETAIL
eI Qbfqbfgg
(3) ~
762
50 (30)
i (2)
@ | | 2(gioz‘ 108_, 108,76
o ! \
DA | f—— e e
‘Qlﬁ ; ) 1(41/4){(4)/a) | (3)
1 ! ‘ S . S **ﬁ
,77é | i Sb ! K‘b ~|2
I e - D I D | e
I R
|5 T ‘ * D NS €
e e | 5o b |3
I I A N s— st S 2
—= | \ ‘ | | db N‘m THIS DETAIL IS APPLICABLE TO THE GUARDRAIL
v |g | Yoo\ T | o=
f}< e ; D —|e INSTALLED PRIOR TO JANUARY 1, 2007,
I n i i _ Y
Sw&\m [ 25 0 oia. \  19x64 (Yax2'/%)
~ holes (fyp.) slotted holes
2551 1) (rypy TRAFFIC BARRIER
slotte oles
(typ) TERMINAL, TYPE ©A
Sheet 2 of 3
MODIFIED THRIE BEAM END SHOE DETAIL
STANDARD 631032-02
FILE NAME - USER NAME = poesl DESIGNED - REVISED - FoA. SECTION COUNTY | JOTAL | SHEET
pw\\IL@B4EBIDINTEG.1111no15.9ov:PWIDOT\Dopuments\IDOT Offices\District q\ProJectS\Geoanata\Geomelrlcs\Susan’5 Files\gua dRE]W]&D - STATE OF ILLINOIS TRAFFIC BARRIER TERMINAL, TYPE 6A R;i‘R D9 GUARDRAIL REPAIR FY17-1 VARIOUS SHIEGETS ';g'
PLOT SCALE = 260000/ CHECKED - REVISED - DEPARTMENT OF TRANSPORTATION INSTALLED PRIOR TO JANUARY 1, 2007 CONTRACT NO. 78526
Default PLOT DATE = 3/14/2016 DATE - REVISED - SCALE: [SHEET OF SHEETS[ STA. TO STA. [ILLINOIS[FED. AID PROJECT




plate

® ¢ 4-25(1) holes

73 102,102 63
D
Transition
—
E

GUARDRAIL CONNECTION PLATE ASSEMBLY DETAILS

533

and nuts

Transition plate

Transition plate

13x152x321 (/>x6x12%)

[/ 102x102x9.5x824
(Ax4x3x32%6)

(Mirror for

opposite end)

824
(327)
417 ‘ 369 38
5(3e) (16 %) i (14 |
\ * ‘
S ; ; |-

5 (He)

(') E 5 (¥s)
1

for 22 (7R H.S. bolts

X Drill and tap 3 holes
for 22(%g) H.S. bolts.

LEGEND Dimensions A B
For Curb 222 89
Mounted Rail | (8% |(3/%)
For Side 247 | 64
Mounted Rail | (9%, | 2!/
121 127
39 ﬁi 6. —— End of rail cap — 76 j) 39
e | (3) (3) )
! 44 44 44 44 ! 2
ol =l L] ) o X NG SEARN ol ¥ | | PR
ols ””lN | i = ! : M= i | ‘-"’lg S
= : - \ \ - ‘ )
I | H I A e B | I
—-—-~4-—-—10! = [ M|~ o = lOr—-—- -—-
—T ‘ g:l =2 i ' 8 @ 1 i g = | f
b —1—© r@/p:\ /: 1. {C O—r—-—-—-—+
< _ ~ I s — | T Q‘\ —~ _ S
g < - ol 3R I Roll cap [z Rail cap SR ol =< I
0l :ﬂ} <o T i ' (By oTheTs)—‘ ~ (Bly others) 1 i T <o gL(: Ol
R E L e S Jafi--4- S
Emhly Shahbt b NS N il I Vo Nl -
' fan} —f /? 9 © : 1 I EJ N~ i ( mf

4-22x31 Upx1/) ]

Pﬁ102><10><824/ NS slotted holes
(4x3gx32Ye) 2-25(1) holes
VIEW D-
M P 13x533x340 DEPARTURE END VIEW
(/px21x13%)
» 824
(32%g)
417 | 369 lo3s
5 (e (167 14y | ave
\ \
| : A
DA %*’*;T;
| N
3 | \
‘ 305 ‘ 175 | | 242 2-25(1) holes
T T A N TS
$“ 102

¢ 2-25(D holes in

19x38 (3/4X1V2) j

slotted holes

\ L 127x76x6.4x553 / \ 19x38 (¥4x1Y/3)

(5x3x!/4x20¥4) slotted holes

l 4-22x31 (7/8><1‘/4)

slotted holes

APPROACH END VIEW

CONNECTION ANGLES

(Install angles to rail caps using 19 (%)
washers and self-locking nuts or nuts
and jam nuts, to be provided by others)

THIS DETAIL IS APPLICABLE TO THE GUARDRAIL

INSTALLED PRIOR TO JANUARY 1,

2007,

SECTION E-  °7 ®9°7 e TRAFFIC BARRIER
TERMINAL, TYPE ©A
Sheet 3 of 3
STANDARD 631032-02
FILE NAME = USER NAME = poesl DESIGNED - REVISED - ' F.A. ISECT[ON COUNTY TOTAL | SHEET
pusA\\ILBB4EBIDINTEG.1111n015.gov:PWIDOT\Dofuments\IDOT OFfices\District 9\Projects\GeohddRNIMEDa ta\beome trics\Susan's Files\quajdRENVIGED - STATE OF ILLINOIS |1|\-||;I:|\';|;.IEEDBAPRRI:IOE: ::R.IIVLI\IxSkRV?IEZg& RliR D9 GUARDRAIL REPAIR FY17-1 | VARIOUS SHEETS gg
PLOT SCALE - 26.0000 '/ in. CHECKED - REVISED - DEPARTMENT OF TRANSPORTATION ' CONTRACT NO. 78526
Defoule PLOT DATE - 3/14/2016 DATE - REVISED - SCALE: [ SHEET oF SHEETS] STA. T0 STA.

[ILLINOIS[FED. AID PROJECT




Pay limits of TRAFFIC BARRIER TERMINAL TYPE 6B (I each)

5 Epoxy grouted M20 (¥

anchor bolts =

"

2 ©@ blockout-

epoxy grounted
anchor bolts *
B A ]

NS

9

953 (3'-1'/,') c-c

el

o

7

2

I/l

Pay limits of

other type

7

]

J

See Modified Thickness Wood Blockout Details

* With standard washers.
After tightening, cut the
anchor bolts flush with
nuts, and damage the nut to
prevent it from loosening.

Note:

See wood block

details A, B, C. & D

‘ Single section of thrie beam 3.8Im (12°-6"")

fwo sections of fhrie beam one

PLAN

set inside the ofher‘

Transition section included in
TRAFFIC BARRIER TERMINAL TYPE 6B
\

(3.4mm (10 gauge)

rail element)

| A N !
Concrete ‘ 2.858 m (9-4!/,"") | 6.667 m (21-10'/," \
Thrie beam structure { 6 spaces at 476 (1'-674") 7 spaces at 953 (3'-1!/5")
end shoe ! 184
T av
o TS — T - = = = = = = == = = = =T = .
o T o o = o Tores = = = =N = = s = M= =, e Tie:
o g o N N N i " N N i N i o o N N i R — P
OCO = = = P o'd‘;'a = = = = = ST =R = = ST o'.:.:o / to! !
§ g > o o 1 o
N SIS A S AN Y S S S A B S A I S N SR S SN S SR S SR 2NN WL\ :///W//,é\; R
4 (U A R A B B B B B B B
SR o, o O O O O O L ) ) L » P P
2 3 4 5 6 7 8 9 10 1 0
610 (2) min. ELEVATION
all posts Wood Blockout _—
/ THIS DETAIL IS APPLICABLE TO THE GUARDRAIL
N & S gﬁ INSTALLED PRIOR TO JANUARY 1, 2007.
(3) ‘ ‘ -
77 162
i
. _% (30 GENERAL NOTES
~ \
oy | ' 203 108 108 76 See Standard 630001 for detalls of
§§ “OL@ ; (8) i i(4\/4)i(4\/4)i(3) guardrail not shown.
El< é | L 1 D Thrie beam rail shall be bolted to block-out
w9 - ‘ i ' i ! at all posts.
e | | T
o |\ | JRG ) S P S G
o S NI =N . ‘ 1 é‘a : Al sl +i d it
o E : n |5 \ ‘ ) ‘ Q) slope ratios are expressed as units
ol W\/// : n 9 - | | | | of vertical displacement to units of
\\////Z\\WISOXB.S (W6x9.0) ' u v% i . (P ; &; horizontal displacement (V:H).
Steel post and woom\: 0 ] A P s . . . s .
block-out ' " ~ \ ‘ ; &) All dimensions are in millimeters (inches)
' H Y | a \ /\\b \ \ unless otherwise shown.
T e |\
[y S -
HEA > . 3 [
- B LB o i T TRAFFIC BARRIER
E_ _____ E slotted holes TERMINAL; TYPE 6B
Sheet 1 of 2
SECTION A-A THRIE BEAM END SHOE DETAIL
STANDARD 631033-01
FILE NAME = USER NAME = poesl DESIGNED - REVISED F.A. SECTION COUNTY TOTAL | SHEET
pws\\IL@84EBIDINTEG.1111no1s.gov:PWIDOT\Dopuments\IDOT Offices\District 9\Projects\GeohBRWIHNData\Geometrics\Susan’s Files\guatdREIV.HSED STATE OF ILLINOIS TRAFFIC BARRIER TERMINAL, TYPE 6B RliR D9 GUARDRAIL REPAIR FY17-1| VARIOUS SHSTS gg
PLOT SCALE = 260000/ CHECKED - REVISED DEPARTMENT OF TRANSPORTATION INSTALLED PRIOR TO JANUARY 1, 2007 CONTRACT NO. 78526
Default PLOT DATE = 3/14/2016 DATE _ REVISED SCALE: ISHEET OF SHEETS[ STA. TO STA. [ILLINOIS[FED. AID PROJECT




533
533

¢
h\<\§§ -
@2

P P

MODIFIED THICKNESS WOOD BLOCKOUT DETAIL POSTS 1-11 WOOD BLOCKOUT DETAIL POST 12 WOOD BLOCKOUT DETAIL
| o Sorarete, |

152

(6) o
M20 (¥4) x 100 (4)Bolt 50, R |concrete L
152 / ! $ W lé gﬂ'uc*zre $ Epoxy-grouted — £ LE
(6)/ Concrete f — — E,'_'E_:ll.'lj\ ' M20 (¥4 anchor bolt =l o
$ sfruc#ure$ ‘//-E:r-:? ;F\ 8 é Gf
| 2 | i 'g Sk
%Thr'\e beam % %Thr'\e beam TN M20 ) 100(4)50‘*% % | Thrie beom%
WOOD BLOCKOUT D WOOD BLOCKOUT C WOOD BLOCKOUT A & B

Bolt fo thrie beam
with M20 (¥4) by 100 (4)
bolt, washer & nut.

Reverse direction
of Insertion. * TRAI__
ERMI

BARRIER
T T

FIC
NAL, TYPE 6B

THIS DETAIL IS APPLICABLE TO THE GUARDRAIL Sheet 2 of 2
INSTALLED PRIOR TO JANUARY 1, 2007. STANDARD 631033-01
FILE NAME = USER NAME = poesl DESIGNED - REVISED - F.A. SECTION COUNTY TOTAL | SHEET
pwA\ILBB4EBIDINTEG.1111no15.goviPWIDOT\Dofuments\IDOT OFfices\District I\Projects\GeolddRWIANData\Eeome trics\Susan’s Files\qualcREVIGED - STATE OF ILLINOIS :-NRA:::.(EE[?A:::E: IEHMA“I\\IIAI;;YYPE ZGB RliR D9 GUARDRAIL REPAIR FY17-1| VARIOUS SHngTS gg
PLoT SCaLE - 260000 +/ o CHECKED - REVISED DEPARTMENT OF TRANSPORTATION S OR TO JANUARY 1, 2007 CONTRACT NO. 78526
Default PLOT DATE = 3/14/2016 DATE - REVISED - SCALE: [ SHEET OF SHEETS] STA. TO STA. [ILLINOIS| FED, AID PROJECT




/6 / C—A-T BILL OF MATERIAL
5/8' X 1 1/4" 16 HGR -
PRODUCT
BUTS & NS PC 984 SIDE PL 10 GA PC 99154 D PC 316 gz 1/2° PLATE T PC 130A NOTE THE con | Y DESCRPTON
BOTH SIDES W/HOLE FOR CABLE ASSY. 12 GA Yy PC_ 192616 10 GA DIRECTION OF 316 | 2 [12/12'6/0 CAT (GUARDRAIL)
FACING POST 2 BOTH SIDES THE RALL LAPS 130A_| 2 [ 10/12'6/510:6'8/5P CAT (GUARDRAL)
| | I 7056 | 1 |2° x5 1/2" PPE
: T # £ - 7406 | 6 |4% TUBE SLEEVE
i 1 / 7696 | 6 | 1/4 x 18 x 24 SOIL PLATE
]—‘“ : 1 P 33956 1 > 7826 | 1 [5/8" x 8" x 8" BEARING PLATE
! \_ SPUCE BOLTS - 983G | 1 |10/NOSE PLATE/CAT/ROLLED
=1 | 1 389 R0 (P 1 3/8°9 ROD 984G | 2 |10/SIDE PLATE CAT
' HEH & I 30126 | 1 | CABLE 3/4 x B'0/DBL SWG
H I ———— ] 30748 | 5 | WD 36 POST §2, 3, 4, 5, 6 CAT
\ o 310 / \ \ / 30758 | 1| WD 3'6 POST #1 CAT
31008 | 2 |wb BLOCK 172 #1 CAT
> 126 ) 4= TUBE PC 99216 e Ia2306 PCISA (5 fo TUBE PC 99216 B0 s 31018 | 10 [WD BLOCK 12 $2-6 CAT
D ) 10 GA D {ve) 32556 | 4 | 3/8" FLAT WASHER
32636 | 4 [3/8'% x 2" LAG SCREW
TRAFFIC o AL END 32756 | 2 |3/8% x 24 1/2" RESTRANT ROD
' C-AT 313 i 33006 | 20 [5/8" FLAT WASHER
| 6-3 §-3 §-3 | §-3 §-3 | NOTE: FINAL STAGE AND BACKUP 35206 | & 13/167x 134" x 3 RECT WISHER
. G MAY BE VARIED DEPENDING 33406 | 85 |5/8" GR. NUT
5/8” PLATE B C E C UPON EXISTING RAILING 33606 | 16 |5/8" x 1 1/4” GR. BOLT
PC 7826 PC 192716 | SYSTEM OR WHEN USED AS 33806 | 8 [5/8% x 1 1/2° HEX BOLT
PIPE SLEEVE ! 5/“ X! 1/2 LG HEX ! ! ! :TTCE':lAUsEfO%USHION 33956 | 32 |5/8" x 1 3/4" HEX BOLT CAT
NINEL 34786 | 13 |5/8% x 7 1/2° HEX BOLT
= 5 s SR == . = 34976 | 6 |5/8" x 9 1/2" HEX BOLT
oo, R l_l LL N == R 36506 | 2 |5/8'9 x 25 GR. BOLT
B o LAt e e L P 39006 | 2 [ 1° FLAT WASHER
t HE 1 i . 39106 | 4 |1" HEX NUT
5 5 42506 | 8 |3/8" HEX NUT
5" 42586 | 4 |3/8" LOCK WASHER
> L+ L+ [+ /——GROUND LINE 46406 | 8 [5/8" x 24" HEX BOLT
= - AN - ST ' (B ' i 9852 | 1 | CHANNEL STRUT x 66"
Vo Vs , : =1 ! : 99154 | 1| SPACER CHANNEL CAT
N e ¥ ] Vi e e D e
1 . + +
DOUBLE Nt }‘J: Re a6 34" CABLE v T T LT : :E/M WooD 192596 | 32 [3/16" x 2" x 10" PLATE WASHER
eoFoR |l Vb Vb Vi Vlh Vo 192616 | 2 [1/2 x 3 x 7 POST PLATE
LOCKING | ¢ Vvor \ | i | | i \ | i [ 192716 [ 1 [1” x 2 1/2" PIPE SLEEVE CAT
| 1 1 v v (]
| NN (N 1l vl (N
i VL V[ V[ V[ V[ P 7406 TYP AT
1 [ 1 L [ ALL WOQD PO
‘ H H H A
() "
! O U I Ol Yl Ll PC 32756 3/88 ROD W/4 NUTS & 2 LOCK WASHERS
A B
WASHER G
PL13/4 X3/16 X316 /8% X 25° HOR. POST ¢ E ¢
5/8' X 7 1/2" HEX HD BOLT & NUT
BOLT & NUT W/2 PC 3320G WASHERS FOR PC 19261G PLATES 6" x a TUBE PC 99216
WOOD BLOCK WOOD BLOCK WOOD BLOCK * DOWN FROM WOOD BLOCK
PC 31008 PC 31018 PC 31018 %% OF WooD ot Pc 31018 LOCKWASHER
/ "\,  5/8% X 25" HGR. POST / AN / AN
PC 9916A SLEEVE— BOLT & NUT W/2 PC 33206 | . 1§ ——— — T ] 3/8% HEX NUT
I~ WASHERS (CUT OFF 5/8% X 1 1/4" HGR. 5/8% X 24" HEX HD = SPLICE BOLT PC 33956 = 5/8" X 24" HEX HD SECTION D-D
= - EXCESS & PEEN THDS) o~ BOLT & NUT (TYP) S BOLT & NUT W/ 2 WASH Y[y (m:ﬁ” W/2 PC 19259G WASH ] BOLT & NUT W/ 2 WASH —_—
5/8" X 9 1/2" HEX HD T = N
PC 192716 PIPE BOLT & NUT W/2 WASH " PC 705 PIPE INSERTED IN POST 13/16° ~~_ 3
INSERTED INPOST RECOMMEND BOLT HEAD OF '\ pC” 9852 5/8 80 1/2 HEX — 3/8% X 2" LAG SCREWS 5/8 X 1/2 LG HEX HD
e STRUT BOLT BE PLACED ON \ A Y VSRS N L
PC 782G 5/8" PL __ SHOULDER SIDE OF POST _ | O | _ | O | HoN
W\ 7 W W/ \ ) Y a\ )
STRUT PC 9852A
PC 30758 PC 30748 PC 30748 PC 30748 \_ pC 30748
T 00D POST Lo ass WooD POST domead WooD PoST WooD PoST .....-,. WOOD POST 6 BT [8-9-00 | CHANGED SYSTEM HEIGHT, WAS 2'-3"
_\ (NOTCHED) / \ 5 IH [6-22-00] REPLACED PC 766 WITH PC 769, CHANGED TILE BLOCK
_/ \ / 4 BT [4-10-97|ROTATED BLOCK PC 9921 90° AT POST 4 & 6
P 7696 \ P 7o / PC 760G 3 BT [3-10-97| DELETED PC 3072, 3073, 4470, CHG QIY 3074 & 3478
SOIL PLATE SOIL PLATE 2 BT |8-12-96] SECTIONS A-A & B-B, CORRECTED PIPE SLEEVE PC No
5/8" X 7 1/2" HEX HD 5/8" x 7 1/2" HEX HD 5/8" X 7 1/2" HEX HD | 4 BT |5-1-96 | REVISED PC No 31G & 130A
\ BOLT & NUT / BOLT & NUT BOLT & NUT - p—
T PC 7406 L el — /L 4 —p
6" X 8" TUBE 5 X o i SECTION G-G ® A 9)»))))»)““" b | 4 — NS— T
SECTION A-A (D SECTION B-B @ SECTION C-C @&® SECTION E-E ® CRASH—CUSHION ATTENUATING TERMINAL ™™ _Br
CHECKED
PLAN, ELEVATION & SECTIONS FOR USE EN
5/8" DA — AS A LONGITUDINAL MEDIAN BARRIER TERMINAL [  NTS.
/ (il NE OR CRASH CUSHION ATTENUATOR DE 7-15-94
I._" UNTHREADED P 33956 SPLICE BOLTS ARE USED TO TRINITY INDUSTRIES. INC BNG. FLE ¥ 55245-01E
13/4 ALLOW TELESCOPING ACTION. The droving cnd the nfornaten shown thereon is he sole property of TRNITY A L SHTNo.— E1 OF 1
INDUSTRIES, INC. ~ Neither the drawing nor such information is o be used for ‘ ' HIGHWAY SAFETY PRODUCTS gy T
PC 33956 _SPLICE BOLT S Zepine bt ot o wich 8w spactcly it by TRMTY 2525 STEMMONS FREEWAY, DALLAS, TX 75207 SS—245 6
FILE NAME = USER NAME = poesl DESIGNED - REVISED - CRASH-CUSHION ATTENUATING ’:?'IAE SECTION COUNTY STHOE.I’EAI’LS ST‘%%T
pw\\IL@B4EBIDINTEG.1111no15.9ov:PWIDOT\Dopuments\IDOT Offices\District q\ProJectS\GeonfﬁmData\Geomev—ms\Susan’5 Files\gua dRE]W.]&D - STATE OF ILLINOIS TERMINAL c A T VAR |D9 GUARDRAIL REPAIR FY17-1 VARIOUS 20 20
PLOT SCALE = 4@.0800 '/ 1n. CHECKED - REVISED DEPARTMENT OF TRANSPORTATION (C-A-T) CONTRACT NO. 78526
Default PLOT DATE = 3/14/2016 DATE - REVISED SCALE: ‘ SHEET OF SHEETS‘ STA. TO STA. [ILLINOIS[FED. AID PROJECT




	11x17-061016-78526-155-020-001
	11x17-061016-78526-155-020-002
	11x17-061016-78526-155-020-003
	11x17-061016-78526-155-020-004
	11x17-061016-78526-155-020-005
	11x17-061016-78526-155-020-006
	11x17-061016-78526-155-020-007
	11x17-061016-78526-155-020-008
	11x17-061016-78526-155-020-009
	11x17-061016-78526-155-020-010
	11x17-061016-78526-155-020-011
	11x17-061016-78526-155-020-012
	11x17-061016-78526-155-020-013
	11x17-061016-78526-155-020-014
	11x17-061016-78526-155-020-015
	11x17-061016-78526-155-020-016
	11x17-061016-78526-155-020-017
	11x17-061016-78526-155-020-018
	11x17-061016-78526-155-020-019
	11x17-061016-78526-155-020-020



